38.55:
a) Plot: Below is the graph of frequency versus stopping potential.

[image: image1.png]160 ........... ........... ........... ........... ........... ........... ............ ............ ........... .......... ........... ........... .......... ............ ...........

1.40 e ........... ........... ........... ........... ........... ............ ............ ........... .......... ........... ........... ........ ............ ............ ............
a0 e L
R 0 T T T O O T T O MOV~ o I O O O O O O
Vo(V)
0.80 |- ........... ............ ........... ........... ........... ....... A ............ ........... ........... ........... ........... ............ ............ ............

O 60 ................................................................................................................ S A eeieaeaeaaa
. . : : H P H H . : : : : H H : H H H H H H

T e e T = —

0.20 : : : : : :
5.0e + 14 6.0e + 14

7.0e + 14 8.0e + 14 9.0e + 14

3.0e8/\ (Hz)




    Threshold frequency is when the stopping potential is zero.
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    b) Threshold wavelength is 
[image: image3.wmf].
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    c) The work function is just 
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1.91

=


    d) The slope of the graph is 
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